f(x) X, f'(x) flx,) (%)
a) [x) = eXx - 2) 2 o (:f‘?; “Arel= g € ~7,39
b) | f(x) = 2e* — e¥ 0 f'(x) = 2e* - 2e* 1 0
Q) |10 = x2e~> : i(iljéxf:)_ xer= 1.037 1
d) [f(x) = "™ = x2 e f(x) = e?~7,39 2e~5,44
&) |fx) = (1 + eVx)? 9 i(% . E:f_;ﬂ - S 8+3‘3891)2 - £(1+3€)~830
f) Ex):%[ n@)=InBx)= fix) = n2~041 |0
g|f=Iln4t=-lnx (4 ') = —% -ln4=-139 |-+=-025
h) |f(x) = ele = x) = e — ex | ? filx) =- e?-e*=-12,70|-e=-2,72
i) |f00 = ee? - 2) -1 f(x) = eXe? - 2) =2 1908 |€£:2
i) |09 = (1 - VBx)? 6 ”"9(1_1@—35;2'2327 ~125 1
- VEx
k) Eﬁj;ﬂi;x e fog=1 1= 1+lhe~2 |L~018
1) | ) = &5 1 fix) = &re” He-1)=118 |He+1)=154
m)|f(x) = (Ln x)2 2 fix) = 230X (In22=0,48 |ln2=0,69
n) [(x) = In () -2 f=2al In4=139  |-1




1. Bilden Sie jeweils f'(x) und geben Sie fix,)an (D, =D, __).

f(x) X, fx,) %)
a) f{x):xu'_zx; 1 1 f’(x}—%xz—%ﬁ
i 15
b) |f(x) = ¥x = x* 8 2 (f=gx=g=
o) |fix) = cos ¥x m? -1 f'(x) = (-sin ﬁ)-.'—r_:—;_sm X
WK WX
—sin L 1 ) = [cos ) - [~ L F = -1 a
d) | f(x) = sin ye = Q f'(x) (cos ﬁ) [ 2}3( N cos yr
_ 3N L TR ey — 1, 2x — 2%
e) [fx) =vVx" + 26 1 3 f(x}—3 e TR T
f) =va-2-xF = T 2-x
f) V=4 + dx —x* = Vdx - x? 2 2 fm_hw_vw
g) |[fx)=x"-x"*"=x?*"neZ 1 1 f'(x) = (2n + 1)x2n
= Va1 32 V%
{7 _ 1,5 ) — (7 - 1 \__ -
h) |60 = 2 - V) 1 1o [fo=15 VR -5 N
i) = {[1 - [cos (2x)]7)%= =
i) |= [sin (2x)] = sin (2x), 0 0 fi(x) = 2 cos (2x)
dasin (2x) =0
D =18-(5-20F =(3 + 2x® 2 343 fx)=3(3 + 2%7 - 2 = 6(3 + 2x)?
fix) = vVale? + a3 =
k) |=laxl + a® = ax + a3, Va | ava +a® |[fin=a
daa>0undx=0
) fx=vax +a =avxi+a 1 aVli+a |[fxj=a 1. 2% ___ax
2 x¥+a xT+a
N ST 0,5 ey =4 - =) ez 15, 9y — 4
m) {0 = = =40 + 1) 0 4 f(x) = 4 ( 2] 02+ 1715 2x = -




Funktionsterm f(x) X, |F'() f'(x,)
2 1 ! 2 '

a) [f =2 1 |feo=-% £(0,5) = -8

_ 7 oy _ 14 : _ 14 _7
b) | (x) = 7 “2(f=-3 fl-2)=1t=7
0 | =(2x-2f =a¢-8+L -1|f=8x-£ f-1)=-8+8=0

_ox=1 oy _ X)) 1 -x=1)-1 _ 2 iy _ 2
d) |f(x) = 2= 2 [f() = i = 5 f(2) =2

_ 3 o 32x+1) y _ 9
@) [f(0 = —>— 1F0=- 75 f(1)=-2

_ 4 1 ey 44 16 ’ _
f) f(X)_4x+1 4 f(x)_(4x+1)2_ (4x + 1)? f(0,25)=-4
9) |f0) = 55x* + 32 2 f'(x):%xiﬁzxs"*:%}Jf—SS f2)=1-4=-3
h) [ 100 = 2x+ 2 + = 0 f'(x)=2—(xj—1)2 fO)=2-1=1
i) f(x):(xz—:—z)z_x4—2+i4 -1 |f0) =4 -4 f-1)=-4+4=0
D {00 =(x—Flox+F) ==L | T {Feo=2x+2 f(0,5=1+16=17

f.(x):(x2+1)~17x-2x_x2+1_2x2_
k) 100 = "~ 0| T e (@+17 (o + 17 f'(0) =1
(x2+ 1)

D [foo =23+ =x+ 1 05|f)=1-L f(0,5)=1-4=-3




